GSE Geometry Unit 2 - Congruence & Proofs Notes
Name: Date:

Day 4 - Triangle Proofs

s Two-column geometric proofs are essentially just fables with _&Tﬂftmﬁms on the left and a
rflGSOh? on the right.

» The statements we make are going to be the Si{i_P_S__ we fake toward solving our problem.

» Reasons can consist of information given within the problem itself, definitions, postulates or theorems.

If... Then the reason is...
an angle or side is ALREADY marked on the picture, £ 53
orif it is given in the directions, gIv N
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the shapes share a side AC=AC . TCF\E\“ \C, ‘PYUP X h/j
D 'L i
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one of the points is a midpoint ‘& — AT VR [ A ' A innind-
of aline segment - Cp= BY d‘ehm \ 1on Ot (L "Hd Poml
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A line segment bisects a side l\ . CO 2 RO d efin Hon of A ‘()l §eCTOY
C o
A line segment bisects an p LCAD = LBAD a(ihmh o O\i o (H\Q\(‘, bisecto
angle
c—4—8 J
the statement states that the triangles are congruent, 8SS, SAS, ASA | AAS, HL
the triangles have already been proven to be congruent, O T
and now we are frying to prove a side or angle is congruent, (, ‘ (J \ (,-

Don't forget to ALWAYS mark your pictures!

Complete the following proofs:
Practice #1:

Given: AUXW and AUVIV are right triangles, UX = UV
Prove: £ X z/V

&

;

Statements - Reasons i v
1) AUXW and AUVI are tt. friangles q \ Ve w
2] UX =0 ‘ a ven

) U =L ReflEXive propert

Y AUXW = AUVYW  [HL (ongruence pestwiate

5 =2 | CPCTC
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Practice #2:
Given: Y is the midpoint of X7, AY = BY , and ZAYX = /BYZ.. A B
Prove: aXYA=z=aZYB
Statements Reasons |
1) AY = BY g iven H )
2) LAYX = /BYZ. d’ iven X Y
3) Y is the midpoint of XZ Ei ven
4 XV =72 dedinition of amidpoint
) el B8 SAS Longruence postwiote
Practice #3: T
Given: aR7Sisisosceles with legs R7 and 7S . Q is the midpoint of RS
Prove: aRTQz=aSTQ
S’raieme;nt; __.____|Reasons
VARTS IS 1505 W/legs RT & TS | 1Vven H m
2) RT =15 _ |dehinition of isos. At @
3 @ is the midpoint of RS given
Y RB 2 SG definition ot a midpoint
¥ T 2TQ reflexive property
Sk SSS_(ongruence Postnate
Practice #4:
Given: ZP=/N,PM = NM
Prove: aPMK =aNM(Q A
Statements Reasons i Q
"L PN given K
7 PM &M given | d
7 L PMK 2/ NMG. verticol LS Ove 2
" APMK = ANMB | ASA (ONQYUENCE postulatt
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Practice #5:

Given: ZL=/J,LM || KJ J
Prove: aLKM =aJMK K

Statements Reasons

gk Bl given

D)) (S Tai i M

[W K3 iven L

I LKML F LMK AV Nt LS theorem

" MK = kM Reflexive property

P ALKM ZAIMK | AAS ongruenid postulate




